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Exercice 3: Déterminer en utilisant le critère de ROOTH si les systèmes suivant sont stables 
 4 3 27(S) 3 3 6 1H

S S S S
=

+ + + +

 ;  
4 3 22(S) 3 3 6 1H
S S S S

=
+ − + +

 ; 
Solution  

1. 4 3 27(S) 3 3 6 1H
S S S S

=
+ + + +

 
1 3 3 6 1 0 1 31 1 03 63− = >  1 11 13 03− =  0 

3 61 3 01 11− = >  0 0 
1 11 1 03 03− = >  0 0 

 
� Système stable    

2.   4 3 22(S) 3 3 6 1H
S S S S

=
+ − + +

 
1 3  -3 6 1 0 1 31 5 03 63 −

− = − <  1 11 13 03− =  0 
3 61 33 05 15 5− = − <
−

 0 0 
5 15 1 03333 05
−

− = − <−  0 0 
 

� Système instable   
     


